HWEg R

BERM:  §F 7E 98268 (&) FrVESTLTHST
BEAk: ~RUYFTAHDR S AL - 1TIA (B 140N - &2 220)
HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)
ELA—L: OUT D@® IN (1/5)
RIEGRE : A—N\YT a0 A9V bRy Y ERI : %0 7€ 9A278 (L)

JIE 2 SmE4 ouT IN GROSS HDCP NET -k
2 B WNHE EN 35 38 13 4.8 | 68.2 |AE
B B BF 44 47 91 21.6 | 69.4 |AE

3 fiL | =¥ BEF 49 02 101 31.2 | 69.8 |AE

4 i | IR ILH o1 93 104 33.6 | 70.4 |AE

5 i | 578 B R 41 45 86 14.4 | 711.6 |AE

6 L | kKB BF 45 44 89 16.8 | 72.2 |&EER

] 46 |EH &8 42 40 82 9.6 | 712.4 |AE

8 fiL |[/MAE 1T 44 48 92 19.2 | 72.8

9 fi | X% [EiE 20 47 97 24.0 | 73.0

10 i /NE H1T 43 40 83 9.6 | 13.4 |AE

11 6 |aE BR o0 45 95 21.6 | 713.4

12 2 | #TH E1E 48 47 95 21.6 | 713.4

13 i | EF KA 50 o]/ 107 33.6 | 73.4

14 fi1 |3Bl0 F 40 36 16 2.4 | 73.6

15 i | ER 2 49 ol 100 26.4 | 73.6

16 i | =k E 46 47 93 19.2 | 73.8

17 fiI | AR BB= 49 49 98 24.0 | 74.0

18 i | & —H 51 47 98 24.0 | 74.0

19 5 | /N — 46 92 98 24.0 | 74.0

20 i | BER BEZ 95 09 110 36.0 | 74.0 RUE

21 oL | #5K B 53 o0 103 28.8 | 74.2

22 i | 5 & 93 o0 103 28.8 | 74.2

23 L | KPE FHE 40 49 89 14.4 | 74.6

24 L | BB BB 40 42 82 1.2 | 74.8

25 i |t B 02 o4 106 31.2 | 74.8

26 i |#%H B8 49 o0 99 2.0 | 75.0

27 1 &£ IEA 48 44 92 16.8 | 75.2

28 {iL FEE 1E Al 45 92 97/ 21.6 | 75.4

29 41 dthE £% 45 45 90 14.4 | 75.6

30 45 | Kk R 43 47 90 14.4 | 75.6 |[RUE

31 42 | #Wiu FOAI 49 93 102 26.4 | 75.6

32 i1 | HH E— 41 42 83 1.2 | 75.8

33 4oL |FE FH 44 44 88 12.0 | 76.0

4 41 & EBE 50 o0 100 24.0 | 76.0

35 i |BEJIl BEIE 44 42 86 9.6 | 76.4

36 fiI | = F£B 41 45 86 9.6 | 76.4

37 i |FaiE FERE 46 45 91 14.4 | 76.6

38 fir |[ET H— 43 48 91 14.4 | 76.6

39 fi W FX 47 49 96 19.2 | 76.8 |&ZM%EEH

40 5L | RF Y 90 46 96 19.2 | 76.8 |[RUE




HWEg R

BERM:  §F 7E 98268 (&) FrVESTLTHST
BEAk: ~RUYFTAHDR S AL - 1TIA (B 140N - &2 220)
HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)
ELA—L: OUT D@® IN 2 /5)
RIEGRE : A—N\YT a0 A9V bRy Y ERI : %0 7€ 9A278 (L)
JIE 2 SmE4 ouT IN GROSS HDCP NET -k
N G| RE EH 52 06 108 31.2 | 76.8
42 f1 B B 46 43 89 12.0 | 77.0
43 L | Kt — X 49 45 94 16.8 | 77.2
44 f1 | ILE IEiE 42 45 817 9.6 | 717.4
45 L | =3F X 46 93 99 21.6 | 17.4
46 i | KK BRXR 47 45 92 14.4 | 77.6
A7 fiI |[BEE I1EE 44 41 85 1.2 | 11.8
48 fiI | KXx 1E 49 48 97 19.2 | 77.8
49 {1 |7 HHE 49 48 97 19.2 | 77.8
50 i |ATH BRI 06 23 109 31.2 | 711.8 [RUE
51 {i | hOmk Hi 44 46 90 12.0 | 78.0
52 i |Hrih B 54 48 102 24.0 | 78.0
53 fiI | KK & 52 o0 102 24.0 | 78.0
54 I | MAK R=X 50 92 102 2.0 | 78.0 |ZM434x
55 i | ¥k 1B 7] 51 ol 102 24.0 | 78.0
56 {i | MOk Z1T 52 48 100 21.6 | 78.4
57 fiI |5 H &iF 58 o4 112 33.6 | 78.4
58 fiI #iK BEX 46 47 93 14.4 | 78.6
59 fif |3 H i 48 45 93 14.4 | 78.6
60 i1 £ &E ol o4 105 26.4 | 78.6 RUE
61 i | BAH EX 44 42 86 1.2 | 18.8
62 41 /N EB 48 o0 98 19.2 | 78.8
63 451 | FIL thiEfk 95 95 110 31.2 | 78.8
64 fi |18 & 43 48 91 12.0 | 79.0
65 i |1£%k BT 42 49 91 12.0 | 79.0
66 i1 T & 45 46 91 12.0 | 79.0
67 i1 | KIF & o1 02 103 2.0 | 79.0
68 i1 | & Wi 53 o0 103 24.0 | 79.0
69 I |/NE F=E 45 ol 96 16.8 | 79.2
10 fi | Kim ®E 52 49 101 21.6 | 79.4 |RUE
N i | BRE FEX 48 46 94 14.4 | 79.6
12 fiI | Hith BERXR o1 48 99 19.2 | 79.8
13 i1 | #% BAE iy o0 97/ 16.8 | 80.2
14 5 | FIL E5h 49 48 97/ 16.8 | 80.2
15 §1 | #8)Il EFBF 54 93 107 26.4 | 80.6
16 6L &8 BEKF o4 03 107 26.4 | 80.6
1T 61 #hH RE 43 45 38 7.2 | 80.8
18 fiI | /M= 5hT 51 49 100 19.2 | 80.8
79 {1 |;IEE = o1 o4 105 24.0 | 81.0
80 i | # —HRK o1 o4 105 2.0 | 81.0 |RUE




HWEg R

BERM:  §F 7E 98268 (&) FrVESTLTHST
BEAk: ~RUYFTAHDR S AL - 1TIA (B 140N - &2 220)
HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)
ELA—L: OUT D@® IN (3/5)
RIEGRE : A—N\YT a0 A9V bRy Y ERI : %0 7€ 9A278 (L)
JIE 2 SmE4 ouT IN GROSS HDCP NET -k
81 £z |&m)ll Flz 53 92 105 24.0 | 81.0
82 i |iEH HER 317 42 19 -2.4 | 81.4
83 i | A0 7=EA 53 o0 103 21.6 | 81.4
84 i |BEH RHEFELE 43 93 96 14.4 | 81.6
85 i |HIIG: FIE 93 95 108 26.4 | 81.6
86 fiI | &=F WA 61 o] 118 36.4 | 81.6
87 4 |IBER IEX 52 49 101 19.2 | 81.8
88 i |[L#E FX 02 49 101 19.2 | 81.8
89 fiI | I K &% 45 06 101 19.2 | 81.8
0 L |BEA F— 48 46 94 12.0 | 82.0 |®RUE
91 i | R4 BA=HB o0 44 94 12.0 | 82.0
92 i AR 53 93 106 24.0 | 82.0
B I |lm RE 56 62 118 36.0 | 82.0
94 fif | =K EBe 54 45 99 16.8 | 82.2
95 i | FEE 51 48 99 16.8 | 82.2
96 i #5K IEZ 45 47 92 9.6 | 82.4
97 i1 | Bl I 48 44 92 9.6 | 82.4
98 £ B F 5 52 92 104 21.6 | 82.4
99 {1 /Ml BE 45 92 97/ 14.4 | 82.6
100 {1 ;8 B4 06 03 109 264 | 82.6 RUE
101 i |38 sh# 46 44 90 1.2 | 82.8
102 fiI |88 *F 90 92 102 19.2 | 82.8
103 i |IUE FZ 90 92 102 19.2 | 82.8
104 i1 |/h#K PESE 60 o4 114 31.2 | 82.8
105 451 | NI HEER 4] 48 95 12.0 | 83.0
106 {3 |{&E#% BAME 49 58 107 24.0 | 83.0
107 i |’=A F# 43 o0 93 9.6 | 83.4
108 i1  BEF5 B= 52 93 105 21.6 | 83.4
109 4z [ LEBRIII —B 55 o0 105 21.6 | 83.4
110 {1 |{£EE 28 58 47 105 21.6 | 83.4 |mRUE
1M1 & | =8 B2 45 41 86 2.4 | 83.6
112 i1 &8 & 50 48 98 14.4 | 83.6
113 451 | F5F 5 50 48 98 14.4 | 83.6
114 i |’ =8 54 06 110 26.4 | 83.6
115 fi |[/INKRE FX 52 ol 103 19.2 | 83.8
116 2 |AHE 99 49 108 24.0 | 84.0
117 4 | B8 #aE o4 o/ 111 26.4 | 84.6
118 41 ;o & EE o1 93 104 19.2 | 84.8
119 {1 |Ja]8 08 93 o1 104 19.2 | 84.8
120 i | B H 92 92 104 19.2 | 84.8 |RUE




HWEg R

BERM:  §F 7E 98268 (&) FrVESTLTHST
BEAk: ~RUYFTAHDR S AL - 1TIA (B 140N - &2 220)
HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)
ELA—L: OUT D@® IN 4/ 5)
RIEGRE : A—N\YT a0 A9V bRy Y ERI : %0 7€ 9A278 (L)
JIE 2 SmE4 ouT IN GROSS HDCP NET -k
121 1 Ei8 7% 51 46 97 12.0 | 85.0
122 i1 | &M & 46 49 95 9.6 | 85.4
123 {1 |[RHEH 8A 49 ol 100 14.4 | 85.6
124 i1 |/ FNE 49 o1 100 14.4 | 85.6
125 fi | KPAE Bk 99 93 112 26.4 | 85.6
126 i | HFII FXK 60 92 112 26.4 | 85.6
127 1 | 2)I] ESE 46 47 93 1.2 | 85.8
128 i | BH HiF 92 03 105 19.2 | 85.8
129 1 3 L% 64 08 122 36.0 | 86.0
130 fi | E1& [&4T 48 48 96 9.6 | 86.4 |RUE
131 I AE £ 55 53 108 21.6 | 86.4
132 o1 | EAf HEF 48 93 101 14.4 | 86.6
133 fir |E % =35h 62 ol 113 26.4 | 86.6
134 £ | ¥TH B&F 62 ol 113 26.4 | 86.6
135 i1 | 2% FF 51 62 113 26.4 | 86.6
136 i | /Mk ZFH 54 o]/ 111 24.0 | 87.0
137 £ | BB IEH8 53 08 111 24.0 | 87.0
138 i EH EX 44 48 92 4.8 | 87.2
139 i | K# £ 48 49 97/ 9.6 | 87.4
140 i | =W SF@ o/ 02 109 21.6 | 87.4 RUE
141 41 | IUE X 53 06 109 21.6 | 87.4
142 41 = FLEA 44 46 90 2.4 | 87.6
143 i1 | BRIF BRE 95 92 107 19.2 | 87.8
144 51 £F 1% 45 43 88 0.0 | 88.0
145 i1 | F) &— o1 49 100 12.0 | 88.0
146 i1 2R EA 93 02 105 16.8 | 88.2
147 1 /A FZ 58 50 108 19.2 | 88.8
148 i1 | #EF0H E 52 06 108 19.2 | 88.8
149 i1 &K =1 49 92 101 12.0 | 89.0
150 4z [/MR RZ 94 o0 104 14.4 | 89.6 [RUE
151 {1 | AR fiF 61 60 121 31.2 | 89.8
152 i |5 & o1 06 107 16.8 | 90.2
153 i | {kk EEF 5]/ o0 107 16.8 | 90.2
154 {1 | BX Kt 57/ 95 112 21.6 | 90.4
155 {s |/ BA 5]/ 93 110 19.2 | 90.8
156 i1 [N = 93 09 108 16.8 | 91.2
157 4z [ R JII & o0 ol 101 9.6 | 91.4
158 41 | B8 11— 90 06 106 14.4 | 91.6
159 i | RK¥ K= 63 65 128 36.4 | 91.6
160 {1 |/NER BA 61 o1 112 19.2 | 92.8 |[RUE




HWEg R

BIERN : | 74 98268 (£) FrYESTLIVST
BmEAE:  KRUYFAHR SMA% 1TIA (Bt 149N - &t 22A0)
HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)
BBLA—L: OUT D@DQ@ IN (5/5)
BUEGLRTE : A—N\2T 4 =AU bNNYY FNml . %01 74 9A278 (X)
[Riva EmE 4 ouT IN GROSS HDCP NET e
161 i =H FX 48 53 101 1.2 | 93.8
162 41 | IR &I 58 61 119 | 24.0 | 95.0
163 i MR E1T 10 99 129 | 33.6 | 95.4
164 1 | Blf & 62 61 123 | 26.4 | 96.6
165 fi | E &R 45 EIER 58 60 118 | 19.2 | 98.8
166 41 | H[R F 66 67 133 | 33.6 | 99.4
167 i | trE #1 10 66 136 | 36.4 | 99.6 |BBE
168 i =H # 12 A 143 | 40.4 |102.6




